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PART -1: GENERAL ENGLISH

1. Whatkind of a person was Elizabeth Jordan?
(1) witty (2) complacent
(3) generous (4) humorous

2.  Whatis well explained through ‘A tale of three villages’?
(1) how to overcome pollution
(2) what are the precautions to be taken to stop pollution
(3) how ‘Pollution’ could affect the environment and mankind
(4) the flourishing of factories in villages

3.  Identify the quantifier that best fits in the blank given below.

Pollution is such a grave problem that ____ person has to think about it.

(1) all (2) any (3) no (4) every
4.  Which of the following are alliteratives?

a) hodge-podge b) tip-top

c) itsy-bitsy d) tick-tock

e) see-saw
(1) (a)and (b) (2) (a)and(c)
(3) (b),(d)and (e) (4) (a)and (e)

5. What was the writer’s intention in portraying the story ‘What is My Name’?
(1) the basic identity of women at home and in the society.
(2) how to overcome the problem of men domination.
(3) how to keep the house clean and design muggulu.
(4) how to bring up children efficiently.

6. ‘Please take your seat!’ This expression means —
(1) giving permission (2) requesting permission
(3) making an offer (4) seeking permission

7. Which of the following words comes first in dictionary?
(1) Fierce (2) Freak (3) Fuel (4) Fossil
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8.  Change the voice
Father has answered my phone call.
(1) My phone call has been answered by father.
(2) My phone call has answered by father.
(3) My phone call was answered by father.
(4) My father has been answered by my phone call.

9.  Itrained heavily. But we didn’t postpone the shooting.
(Combine the sentences using ‘In spite of”)
(1) Inspite of it rained heavily, we didn’t postpone the shooting.
(2) Inspite of heavy rain, but we didn’t postpone the shooting.
(3) Inspite of its rain, we didn’t postpone the shooting.
(4) Inspite of heavy rains, we didn’t postpone the shooting.

10. Choose the right prepositional phrase for the sentence given below.

Giri went to the station his father.
(1) inplace of (2) bymeans of
(3) inaddition to (4) alongwith

11. Gowtham, who went abroad last year, came back to his motherland.
(Identify the type of clause in the sentence)

(1) Defining Relative Clause (2) Non-defining relative clause

(3) Ifclause (4) Independent clause :
12. What is/are the important elements in Biographical sketch?

(1) Personal information (2) Career

(3) (1)and(2) (4) asignature
13. The minimum characters necessary for a conversation are

(1) 1only 2 2

(3) - more than two (4) allthe above

14.  Which are the clements included in a letter writing?
(1) Date and address (2) Salutation and subscription
(3) Body of the letter (4) Allthe above

V-General English 4-B



Question Paper B
Booklet Code

15.

The meeting is postponed. So we resumed our usual work.

(Combine the sentences using ‘since’)

(1) Since we resumed our usual work, the meeting is postponed.
(2) Since the meeting is postponed, we resumed our usual work.
(3) Since the meeting is postponed, so we resumed our usual work.
(4) The meeting is postponed since we resumed our usual work.

16.

Which among the following is NOT a feature of a one act play?
(1) One setting (2) - Minimal characters
(3) asubject/theme (4) Fantasy

17.

It was a/an situation that left a lasting impression on the teacher.
(1) unforgettable (2) occasional
(3) recalling : (4) uncontrollable

18.

“We don’t have enough basic needs like food, water and energy”. This statement shows —
(1) gratitude (2) adequacy
(3) inadequacy (4) prediction

19.

My little sister is fond fairy tales.
(Choose the right preposition)
(1) at (2) of 3) to (4) by

20.

Combine the sentences using a relative clause.

The king presented his daughter a bird. It sang sweetly all day.

(1) Theking presented his daughter a bird who can sing sweetly all day.
(2) Theking who presented his daughter a bird sang sweetly ail day.

(3) Theking presented his daughter a bird which sang sweetly all day.
(4) TheKing’s daughter sang sweetly with the bird all day.

21

The challenges in our lives are there to strengthen our convictions.
(Find the synonym of the underlined).
(1) contentment (2) fears (3) beliefs (4) desires
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22. What does the narrative of colonel Sanders prove?
(1) One can’t earn more than 100 $ at the age of 65.
(2) One who doesn’t give up can achieve success even at 65.
(3) One can try mother’s recipe at the age of 65.
(4) One can knock atleast 10 doors only to receive an order for his recipe.

23. What was the philosophy behind the poem ‘Or will the Dreamer Wake’?
(1) The need for protection of Wild life.
(2) The need to incite the human being towards rehabilitation of animal world.
(3) The fear of extinction of animals.
(4) Alltheabove.

24. My austere father used to avoid all in essential comforts and luxuries.
(Find the antonym of underlined word)

(1) deny (2) expect
(3) accept (4) quit
25. What does the binomial “odds and ends” mean?
(1) difficulties (2) abig choice
(3) unimportant things (4) anintegral part

26. What was Walt Disney’s invention?

(1) Mickey Mouse (2) Triode tube

(3) Electric bulb (4) Kentucky chicken
27. Ifyouinvited me, I attend the ceremony.

(1) had (2) would

(3) will (4) would have

28. They may not approve my request.
(Change into passive voice)
(1) My request may not approve them.
(2) My request may not be approved.
(3) My request may approve them.
(4) Moy request is not approved by them.

V-General English 6-B



Question Paper B
Booklet Code

Question No. 29 to 33 : Read the following passage.

A teenage boy from a village moved to the city for a job to support his family. He applied
for a job in a big firm.

After some days, he went to attend the interview. He successfully cleared all the tests. The
hiring manager, “You are hired, give me your details for further processing. Also make sure that
your bike is in good condition, as you have to do a lot of travelling to meet the customers”.

The boy replied, “Sir, but I don’t have a bike with me”. Hiring Manager, “Without a bike,
you will not get this job, you can leave”.

The boy left the place thinking about what to do next. He had little money with him. But he
does not want to return to his village without a job. He came across a big vegetable market. He
sparked with an idea. He decided to buy vegetables and sell from door to door. This went well
with good profits, so he continued his hardwork and developed his business as a food chain
retailer.

After a few years, his friend visited his home and found many cars in the garage of his big
house. The business man’s friend asked, “You have a good collection of cars, do you have any
bikes?”” The man smiled and replied, “If I had a bike, I wouldn’t have had these many cars. This is
my destiny”.

Answer the following questions :
29. Why did the boy move from village to city?

(1) togetmarried (2) toenjoylife (3) tofindajob (4) to find friends

30. Whatkind of job did the boy get?

(1) ajob to meet customers (2) ajob to look after the company
(3) ajob of hiring manager (4) hedidn’t pass the interview

31. What was the reason he was not hired for the job?
(1) He didn’t clear all the tests
(2) Hedidn’t satisfy the hiring manager
(3) Hedidn'tlike travelling
(4) Hedidn’thaveabike

32. What did the boy decide when the hiring manager refused to give him a job?
(1) Theboy decided to leave the city
(2) Theboy decided to buy a bike
(3) The boy decided to stay in the city till he gets a job
(4) Theboy took loan to buy a bike
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33.

Which message best suits the story?

(1) One should never give up in despair.

(2) One should buy a bike to secure a job.

(3) Itis necessary to do marketing to become successful.

(4) Ifyou fail in interview, you should go back to your family.

34.

Which among the following is NOT a right statement about Wangari Maathai?
(1) She was an Environmental activist

(2) She was the leader for Green Belt Movement

(3) She was a feminist

(4) She was a native of South America

35. We should complete this construction by next week.
(1) obligation (2) pasthappening
(3) present reference (4) inference
36. Aslwas going to take my first sip, [ heard father’s voice.
Which kind of Adverbial clause is the underlined part?
(1) condition (2) time
(3) reason (4) result
37. What qualities in Nick made him an International symbol of triumph?
(1) Nick’s bravery and perseverance (2) Nick’s humour and wit
(3) His fear and hesitation (4) Nick’s disability and rare disease
38. The poem ‘A plea for India’ urges for
(1) aviolent India (2) astrong, united India
(3) inciting leaders (4) selfish mothers
39. Can we go this way to reach the Post Office?
(1) seeking information (2) making arequest
(3) seeking permission (4) making asuggestion
40. What made Maya Bazaar a land mark movie?
(1) Direction of K.V. Reddy (2) Dialogues of Pingali Nagendra
(3) Sterling performances of stars (4) Alltheabove

41.

Combine the following sentences using ‘neither-nor’.

Mr. Rao is not attending the meeting. Mr. Prabhu is not attending either.

(1) Neither Mr. Rao is attending the meeting nor Mr. Prabhu is attending the meeting.
(2) Neither Mr. Rao nor Mr. Prabhu is attending the meeting.

(3) Neither is Mr. Rao nor is Mr. Prabhu attending the meeting.

(4) Mr. Rao is neither attending the meeting nor Mr. Prabhu is attending the meetmg
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42. What is the theme behind the lesson “I will Do It”?
(1) Narayana Murthy’s achievement of 117 seat.
(2) A person needs support from the family to achieve something in life.
(3) Every person has success and failure in life.

(4) One who is intellectually and ethically strong can become an icon of success, even
though from an ordinary family.

43. “My laugh in the mirror shows only my teeth like a snake’s bare fangs!”.
What is the figure of speech in the above lines?
(1) Metaphor (2) Simile
(3) Alliteration (4) Personification

44. He was in reality a very simple and unassuming man with a subtle sense of humour. What is
the synonym of the underlined word?
(1) smooth (2) unnecessary  (3) unnoticeable (4) intolerable

45. ‘Bye! see you again’ ..... This expression fits well for a
(1) Diary entry (2) Conversation
(3) Aurticle writing (4) Advertisement

46. Find out the wrongly spelt word.
(1) elegance (2) speculation (3) governance (4) occasion

47. ‘IfI'were you, I would donate half of my money to the poor’. This is the best example for

(1) complementing (2) suggesting

(3) accusing (4) thanking
48. What do we call ‘a person who is responsible for a problem or a crime’?

(1) Publisher (2) Massive (3) Culprit (4) Cardiologist
49. Heis about technology.

Fill the above blank with suitable options given below.

(1) ignorant (2) innocent (3) indecent (4) inefficient
50. List out the positive qualities from the following.

a) self centred b) imaginative

c) affable d) reliable

(1) (a)and(d) (2) (b),(c)and(d)

(3) (b)only (4) (c)and(d)
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PART - 11 : MATHEMATICS

51. Ifthe zeroes of x*—=3x*+x+ larea—b,a,a+bthena= b=
X =3x2+x+ 1 g &rIgew a-b,a,a+beo wond a= b=
() a=-1Lb=+2 (2) a=Lb=+J2
(3) a=V2,b=—\2 (4) a=\2,b=13
52. The system of equations 2x + 3y = 7 and (a + b) x + (2a — b) y = 21 has infinitely many
solutions then a = ,b=
2x + 3y =7 %8050 (a+ b)x + (2a- b)y 2] &3 dEserre Sg5Y wlod FESes
ORS00 a = = ;
(1) a=5,b=3 (2) a=6,b=5
(3) a=5,b=1 (4) a=1,b=5
53. The mean of ‘n’ observations is X . If the first observation is decreased by 1, second by 2
and so on, then the new mean is
n THo H0H8 X. 0GB 0°F 00 1, BokS 078 $08 2,..... e SVIJ: 2B Srdd
orHeo BE), JTH0.
f_'_(n+1) f+[n-lj
(1) N (2 e
f_(rz+l) f_[n—lj
(3) o 4) _e
54. ABCD is a trapezium in which AB//DC and AB = 2DC, then the ratio of the areas of AAOB

to ACOD is
ABCD @3560‘5:0 S8 AB/DC %8050 AB = 2DC wond AAOB, ACOD ITogine
:)rn_)g

D ke

A .
(1) 1:2 (2) 2:1 (3) 1:4 4) 4:1
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55. The ratio of lateral surface area to the total surface area of a cylinder with base diameter
1.6 m and height 20 cm is
Frargdsn 1.6 o Sodaso 28 20 200.00. EOAS ¥ ’&gé:ﬁw Roof), SEse Sreogin
30050 JoFgde ITogive IS
(1) 17 (2) <71 {30 1:5 (4) 5:1
56. If F(x) denotes set of all divisors of x, then F(18) = F(12) =
F(x) 0558 x S8 o) s*deroste 3087 Jrdy, F(18) - F(12) =
(1) {12, 18} (2) {9, 12} (3) {918} (4) {6, 18}
.".x+—l 1
57. If (Q/Z) 3 v then the value of x =
(2/2)2”% = ®ond X Jewd
32
(1 4 (2 =4 (3) 2 4 -2
sx?—6x)
58. If logﬁ =2 thenx=
(51’2—6.\')
log; '=2 wond x=
445 —4+5 3+419 -3+17
(1) (2) (3) 5 ==
6 6 5 5
59. The distance between the two points where the graph of p(x) = x*>— 3x — 4 intersects x-axis
is units.
p(x)=x*-3x -4 0% 23058 B, SFdFo X-vE50 Podo Tok Voo Kes
&80 OSAEN.
(1) 2 (2) 3 (3) 4 4 5
60. If(3,9)isapointon the line 2ax -3y =5 thena=

2ax -3y =503 39 (3,9) 2§ Do wond a=

3 16 -2
-5 & = @ @ T
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61. Which term of the A.P. 3, 10, 17, ... will be 84 more than its 13 term?
3,10, 17, ... ©% ©o@ES* %S S0 o 135 S0 o8 84 I8y S wotwod?
(1) 21 2y 23 3) 27 (4) 25

62. Tworight circular cones X and Y are made such that X having three times the radius of Y
and Y having half'the volume of X. Then the ratio between the heights of X and Y is
X 308050 Y e Bodhd {_550536_;5‘5 fodoJen, X Bng), a‘sﬁ'go Y50 Sord By Sodcdw
Y @08 08 S0Sreo X&* do wodbitn dcirdd BohadSd. wond X, Yo &k
S R
(1) 7:8 (2) 239 g3 3:2 4) 9:7

63. Iftan® + sind = p and tan® - sinf = ¢ then p> — ¢* =
tan® + sin@ = p 56050 tanB — sind = g @od p? — ¢ =
(1) 16ypq (2) 4Jpq () l6pg (4) 4pq

64. A sphere of radius 3 cms is dropped into a cylindrical Vessel of radius 4 cms. If the sphere
is submerged completely, then what is the increasing level of water (in cm)?
3 oo, Tggo AONS wE M), 4 o, & Tgrgo KOAS wf Jpdrsd NES’
Tom Sodidain 3?0;6%0303, & "‘mgé's'd PSS S Qo Jod I DHHEH?
(Do..0e*)
(1) 2.35 (2) 2.30 (3) 225 4) 215

65. Ifn(A-B)=16,n(B-A)=10,n(ANB)=5,thenn(AUB)=
n(A-B) =16, n(B-A) = 10, (AN B) = 5 ©o08 n(A UB)=
(1) 16 €210 131 31 4) 15

66. Ifthe sum of the squares of the zeroes of the polynomial f(x) = x2 — 8x + k is 40 then the
value of ‘&’ is
f(x)=x* =8 + ked adodd rarge oo dngo 40 wond k=
(1) 10 (2) 16 (3) 14 4) 12

67. fax+by=a*~b andbx+ay=0thenx+y=

ax+ by =a* - b? 58050 bx +ay =0 wond x+y =
(1) o*-¥ 2) b-a (3) a-b (4) @+

-Maths 12-B
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68.

In an acute angled triangle ABC, iftan (A+ B - C) =] andsec(B+C—-A)=2thenA, B and
C are respectively . :

vy’ @zbz0 ABC&* (A+B-C)=1,sec (B+C~-A) =208 A, B, Cdenden
S&d_Jme . 3

S L BT
52—, 67— 67— ,52— , 60°
(R 208 S8 Q) Wi e

1 o l +] 1 o 1 ©
60°, 52—~ , 67— 60°, 67— , 32—

69.

The region consisting of all points in three-dimensional space with in 3 units of the line
segment AB has volume 2167 cu. units. What is the length of AB? (in units)
2§ Bgr podsn AB g B8cHomr 3 chrdly ErSING' &F) o) DokhHosd

SONS | Fodsn BnE), WEHOSrasn 2167 Houcrn wond AB @ng, 6P Jo8?
(cSorDeres*)
(1) 24 2) 20 (3) 18 4) 12

0.

InAABC, ZA=90°,AB=5cmand AC=12cm. IfAD L BCthenAD= cm.
AABC&*, ZA=90°,AB=5cm. 2850 AC=12cm.AD L BCeon@& AD=

20.90.

13 60 13 2
() @ i ®:.5 © —1—3‘/:

2.

From the given figure the relation between x and y is
23 3o Hod x DXL y o D&y dowogo

P C 4538

(1) x+y=13.5 (2) x-y=2 (3) Zx+y=10 (4) x-2y=6

V-Maths 13-B
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72. Which of the following are correct?
Bod TS I8 D&go?
a9) BcA=AUB=A
b) BcA=ANB=B
) WUW NZ=N
dd AcBBcA=A=B
(1) (@), (@), (c), (d) (2) (a),(b),(c)
(3) (a),(b).(d) (4) (a),(c), (d)
73. The area of the equilateral triangle formed by the vertices (a, a), (-a,—a) and (—w/ia, ﬁa)
is $q. units.
(a, a), (—a,-a), (“ﬁa,ﬁa) DooYosd omeorr KOAS SJverdv Bha 3Togo
wnoSao.
(1) 434° (2) 2434
3) 83a? @) 643
74. If the points (p, g), (m, n) and (p — m, g — n) are collinear, then
®, q), (m,n), (p —m, g — n) Do Hen SEHSren ©o0d
(1) pm=gqn (2) pm+qn=0
(3) pn+gm=0 (4) pn=gm
75. Three vertices of a parallelogram ABCD are A(3, —4), B(-=1, =3) and C(- 6, 2). Then the

area of the parallelogram ABCD is sq. units.

ABCD 38088 ﬁéodaoaso RooE), Koo %Ulco A(3,-4), B(-1,-3),C(-6, 2) @o»n8 &
Dnarodd r:Se‘iocSJ')a FTego In{[lonshil

15
(1) 15 B =
(3) 30 (4) Data is insufficient ($&zodo S0¢¢&0)

V-Maths 14-B
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76.

The difference between the areas of a sector of angle 120° and its corresponding major
sector of a circle of radius 21 cm is cm?.

21 Do.. Tg¥rgor fo af S)Bod* oo 5§ 120° F'ewo B we) HE pod
ATogin D00k T oldrd vl 58 pod ITogive Fo 0.0,
(1) 147 ) 294n (3) 462 4) 441n

Z7.

In the figure, if PQR is the tangent to a circle at Q whose centre is ‘O’, AB is a chord
parallel to PR and ZBQR = 70°, ZBOQ = 140° then ZAQB =

Soe* ‘O’ oo Ko S8 Q 5& PQR 28 3909 PRS dSroddor AB of =g
50805 ZBQR =70°, ZBOQ = 140° woxd LAQB =

.

Oy
“«—t & —>
P Q R
(1) 20° {2): 25" (3) 40° (4) 45°
78. The angle between two radii of a circle is 130°, then the angle between the tangents at the
ends of those radii is
w8 S)Fos® ok FgFrTo SGg8'mo 130° wond o TerTo DS0 DodbPo 3¢
fcodS «‘636;‘6:4)0 Sgg8'eo
(1) 40° (2) 50° (3) 70° (4) 90°
79. If the roots of (b —¢) x2 + (c — a) x + (a— b) = 0 are equal then

(b-c)x* +(c—a) x + (a-b) = 0 Bw¥, Soreren JSrarer wond
(1) 2b=a+c (2) a+b=c
(3) a+b+c=0 (4) b*=ac

V-Maths 15-B
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&0.

If the sum of the roots of the equation x”* —(k+8)x+2(2k—1)=0 is equal to half of
their product then k =

X —(k+8)x+2(2k-1)=0 o3 3ho&6m Sorore dndo, T ©RoSt HKo ol

k= .
(1) 7 2) 6 3) 5 4) 9

81.

If one root of 4x% — 2x + (A — 4) = 0 be the reciprocal of the other then A =
4x2=2x + (A —4) = 0 B0y, 2.8 Horedn, 878 Sorerdd Yy S0 wond A=
(1) 4 2)-—4 (3) -8 4) 8

82.

The middle most term of the A.P. 7,13, 19, ..., 247 is
7,13, 19, ..., 247 0 ©osEes* Soggho
(1) a,,=121 (2) a, =127 (3) a,,=127 (4) a, =133

83.

If 2 + 4k + 8, 2k% + 3k + 6 and 3k% + 4k + 4 are the three consecutive terms of an A.P. then
k=

I+ Ak + 8, 2K + 3k + 6 508050 3K2 +4k +4 o0 APS* Somtho 563 Hereoond k=
(1) 0 @) 1 )= o 4) 3

84.

The sum of all the odd integers between 2 and 100 divisible by 3 1s
2 508050 100 Soggie g dopges® 3B Jgdom griosad 8% Frg dopge Indo

(1) 1683 (2) 867 (3) 1734 (4) 3366

85.

An observer 1.5 m tall is 28.5 m away from a light pole. The angle of elevation of the top of
the light pole from his eyes is 45°. Then the height of the light pole is metres.

1.5 PEHie 8 H080d ol &5 gowo &od 28.5 2o Srdoss® Grando. @8 §od
B0 & B Howo PES 45° M Feo Baloidy) & &I Yowo I L.
(1) 285 @) 27 3) 315 4) 30

86.

The shadow of a pole standing on a even level ground is found to be 40 m longer, when
Sun’s attitude is 30° than when it was 60°. Then the height of the pole is metres.

Sodomr ¢F) Jo Ko gowo, JrdogE* 60° éigsg‘eao DSDydo g08, 30° é‘ﬁgsg‘eao
30896 40 Do, IS D DS FEI 608 GoB & Fowo & Dotath.

(1) 2043 ¥+ 303 (3) 403 4) 10V3

V-Maths 16-B
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87.

The angle of elevation of the top of a hill at the foot of a tower is 60° and the angle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50 m high,
the height of the hill is metres.

w8 2356 edibgrto $08 o8 Fod 3pdo 60° gy §'w0 Basndd)d. Fod wkirberio
%008 ©56 D F8 30° &g S'evo BB, LI6 &y 50 . o8 Fod Iy
.

(1) 100 2) 5043 (3) 150 (4) 150V3

88.

Two dice are thrown simultaneously. Then the probability of getting the sum of the two
numbers appeared on them is a prime number is

Body FdEen 2830 FPosESD. Y & Bodoll D SugroD i) Bok dopge
Ingo 8 DS 60:;:8 DL Ko JSogrlgd

10 12 14 15
(1) %6 (2) 36 (3) 36 4) 36

89.

A bag contains 12 balls, out of them °x’ are white. If 6 more white balls are added to the
bag, the probability of drawing a white ball will be doubled. Thenx =

w8 $00S* o 12 wodod®, X’ odhen 8. & 6 Bendh woHoH & JodS*
SDSL008, & Jod ol 2f Beod) 08I ESpLK Ko dowrdgd oY vHHod.

WOoNB X =

(1 3 (2) 6 3) 9 4) 4

90.

A number ‘x’ is selected from the number 1, 2, 3 and then a second number ‘y’ is randomly
selected from the numbers 1,4, 9. Then the probability, that the product of the two numbers
(xand y) will be less than9is
1,2,3 o3 Sopge &od ‘x’ &I Sopgdd Sdasw 1,4,9 o3 dopgeo $od SSrSyRorr
‘Y’ 03 dopgo IHFHod 20A08. Bond & Tok Jopge (x S8 y) oyo 9 EoB
S5 3m okt fo Jogrdgd

e 5 1 3
i) 5 @5 -6 o @ 5

9.

log tan1® + log tan2° + log tan3° + ... + log tan 8§9° =

(1) 0 (2) log(tan90°)  (3) 1 (4 =5
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92. Among the following a pair of non-disjoint sets is
808 TS° DonE SO Jrdodd wE =é.

(1) A-B,ANB
(3) B-A,A-B

(2) B-A,ANB
(4) AUB,ANB

93. Apositive number ‘m’is divided by 11 and leaves the remainder 6. If 4m + 5 is divided by
11, then the remainder is

w8 G Sopg ‘m’ & 11 & Ay Fho 6 SEo. ©ond dm + 55 118° oAy 5T

3450
(1) 10

94. Match the following :
28 HHHAw.

iii) secB =

iv) cotf =

(1) i-a,ii-d, iii-c, iv-b

(3) i-d, ii-a, iii-b, iv-c

3) 8
2ab
a) JEY
2 23
b) a +b
2ab
e
©) 2ab
d 2ab
) al +b2

(2) i-a,ii-b, iii-c, iv-d

(4) i-d,ii-c, iii-b, iv-a
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95.

If 0. and B are the zeroes of x> —p(x + 1) —cthen (e + 1) (B + 1) =
X2 = p(x+ 1) — c Rwg), Targen o, Peo wond (a+1)(B+1)=

(1) pPP+2p+2¢ () ~(1+~5J

P
() 1-c @ p

96.

5
If the mean of first ‘n’ natural numbers is -92 and the mean of first ‘m’ odd natural numbers

2

s th +
is —thenm+n=
81

2

Sn
AEE n’ Sire Bowge SO0 - So0aH IGH ‘m B de Sopge S0WO =

@oNdB m+n=

(1) 81 2) 90 (3) 72 4) 112

97.

In the given figure, BD is the bisector of ZABC. If ZADB = ZDEB = 90° then, which of
the following are true?

25288 Hos* LABC @) §'o S5085pods B3 BD S08a%0w ZADB = ZDEB = 90°
wond §od TS A J&g0?

i)  AABD = ADBE ii) ZBAD=ZBDE
iii) AABD~ADBE iv) ZADB=ZDEC
A

%
(D) (@), (i), (iii), (iv) (2) (), (i), (iv)
(3) (i), (iv) @ (@, @), (@)
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98. sin*A-cos'A=
i) sin” A —cos” A
ii) 2sin?A-1
iii) 1-2cos’A
iv) cos*A-sin®A
(1) (@), (i) (2) (), (i)
(3) (), @v) (4) (i), (ii), (iii)

9. If x- le 4 then which of the following are true?

x
x—l=4 @008 (Bod TIS* A BEg0?
x

5

X +—=18 x+—=25
i) 3 ii) .
RIS NG E oo
i) X "'—2=8 5 iv) X +F=322

X

(1) (@), (i), (i), (iv)
(2) @.@v)

(3) (@), (iD), (iv)
@ (), (i), (iv)

100. Ifthe mean, median and mode of the data 60, 100, x, 40, 50, 200, 90 are all equal to x, then

X =

60, 100, x, 40, 50, 200, 90 ©3 daodo BnE), dhtw, Jdgido, wrvdso ®) x &
DErdo wond x =

(1) 90 (2) 80 (3) 100 (4) 110
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PART -I1I : SOCIAL STUDIES

101. No. of districts in Andhra Pradesh at present
@QE0 LoPRRTS' Berw Sopg

() 13 (2) 24

(3) 25 (4) 26
102. Identify the correctly matched pair

(1) WestBengal -  Kolkata

(2) Odisha - Raipur

(3) Rajasthan - Udaipur

(4) Mizoram - Agartala

8o T*RS" JOMT 28580 TAD HHfowiod.
(1) 33% Bord - 'Ske

(2) 2éd - odPs

(3) oagS - e8DYE

(4) EGo - wrger

103. Which of the following statements is false regarding globalisation in India.
(1) The impact of globalisation is uniform
(2) Some new jobs are created
(3) Some Indian companies have grown as multinational companies
(4) It has benefitted well-off consumers
T ESBI0S” (HHoDEGE Howohod Bod FEge JO5°G
(1) DHodE8e PHarsSo AE6BS God.
(2) FQ) Fg &bgmen Jnowsadon.
(3) FQ) 8o Sogen advd =8 dogeorr JBrow.
(4) D0d%) IARriTHo ergmohsonr &od.

104. World Bank is

(1) IBRD only (2) IDAonly
(3) IBRD+IDA (4) IMF only
©D0 ergofy s

(1) IBRD &g (2) IDASrgd
(3) IBRD+IDA (4) IMF S8
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105.

Which among the following is/are true?

i)  National Food Security Act was enacted in 2013.

ii) Antyodaya card holders get 30 kg. of food grains per family only.
(1) (i) only (2) (i) only

(3) (1) and (1) (4) None of the two

808 TS B/AD JSgS.

i) @r8chH eF FES So 2013 &° BoHadod.

ii) e@od'gdch 5 fo 5708 I 30 85’0 BFETIrgen Y.
(1) @) Somgdd (2) (i) Srgo

(3) (i) So8as (ii) (4) > BoloBS* ABFE

106.

The theme of the book ‘Silent Spring’ is
(1) The impact of deforestation

(2) The impact of spraying DDT

(3) The impact of corruption on society
(4) The impact of urbanisation

DBols Pyofi’ HBE 28S)0.

(1) oddeo 58838 HerSo

(2) DDT 29570 () SBo§), @erSo
(3) JSrzon I8 B, BrSo
(4) JQebsse BwE), WerSo

107.

The word ‘Chipko’ means

108.

(1) ToSave (2) ToCut (3) ToPlant (4) ToEmbrace
‘0 odm

(1) &8owhd (2) S&sob (3) odod (4) HEb
The upper air currents are known as

(1) Tradewinds (2) Jet streams

(3) Loo winds (4) Monsoons

GI0de AN PTTTON e Denad.

(1) orgard Sdaren (2) BE Pardten

(3) oo ddTen (4) 20 Jden
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109. Bolshevik revolution took place in the country

(1) Russia (2) Britain
(3) Germany (4) France
S*ODE DHS0 JoFJoAS BFSw :

(1) &g (2) LS
(3) =5 4) &xy

110. Bismarck, the Germany chancellor entered into a secrete alliance with ‘X’ in 1879 and Y’
in 1882. Which countries are ‘X’ and ‘Y’?
(1) “X’isltalyand Y’ is Austria (2) ‘X’isAustriaand ‘Y’ is Italy
(3) ‘X’is Turkeyand ‘Y’ is Austria (4) “X’isItalyand “Y’is Turkey
260 THob vons dFG 1879 &° X &%, 1882 &° Y’ & 8y adodo
Sosnsoand. X7, ‘Y’ oo J dren?

(1) X awd, Y e 2) X ofcsr, Y’ abd
(B) X &, Y efos (4) X awd, Y&,

111. Identify the false statement regarding the ‘League of Nations’.
(1) Russia and Germany are not the members of it.
(2) Woodrow Wilson played a very active role in its formation.
(3) U.S.A.became an important member of it.
(4) Even by 1934, it had 58 members only.

TTE8 J8 Hdod S/ BF) FEgA) HfoSos.

(1) &g, 28608 voks* SFgdo So.

(2) &8 IR TR Ty T HEES I FaoTdd.
(3) USA. 006" o8 Snpgaod S¢igddtoonod.

(4) 1934 88 Do, ©d 58 JFgBrodH Sr@gd EOn &ob.

112. Germany : Reichstag : : Japan : ?

(1) Parliament (2) Diet

(3) National Assembly (4) National Congress
2850 1 O5PH 1 2 >S 1 ?

(1) oS (2) &S

(3) JhES wod (4) IZSS soi®
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113. Find out the wrongly matched pair.

(1) Animal Farm - George orwell (2) New Deal - Roosevelt
(3) Enabling Act - Mussolini (4) Holocaust - Hitler
SOy 283808 A Kosod.

(1) oSrA%c>rDH - = «3S (2) &g b6 - &rFG

(3) 23Dl HYS0 - KD (4) Foe]y - L6

114. Which of the following statements is/are false?
i)  Vietnam came under the direct rule of the French.
ii) The French wanted to develop Vietnam as an exporter of wheat.

(1) (i) only (2) (ii) only
(3) (i) and (ii) (4) None of these

808 TE g’ @ISR :

i) dodeno @od T PEgE FoISE SQ0d.

i) oD T IcHe)es GBS WHHDBTHM ©PS)Y BoSrod rdowdd.
(1) (1) S (2) (i) S0

(3) (i) 308080 (i) (4) 28S* A6 &

115. Peasant army was builtby :

(1) Mao Zedong (2) Stalin

(3) ChiangKai Shek (4) SunYat-Sen
Berol RI°GR) VBPEAITE -

(1) S Bzroh (2) FxOS

(3) DoSrofR 3 af (4) 38 -

116. ‘Pakistan or the portion of India-Introduction’ was the book written by

(1) Gandhiji (2) Eric Hobsbawm
(3) Muhammad Ali Jinnah (4) Dr.B.R. Ambedkar
‘XS Bo rESRE DS - J850%0’ ©J) YJE FSond.

(1) mode (2) 205 FHwo

(3) HoTss wd 23 (4) =.D.6908&86
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117.

Which of the following acts of Indira Gandhi supports the ‘Right ot Equality’ of the people?
(1) Abolition of privy purses and titles ~ (2) Imposition of emergency

(3) Implementation of five-year plans (4) Operation Blue Star

808 TAS* 0BT BHGS ' S0 Wre DSrSE T8y, S SESGESIETY

(1)  oergideren, DO & (2) o&gS33s 2028 DHPodo
(3) DoBSE WerPEo woen (4) ©50AS e 6
118. For the constitutional amendment, approval of 2/3 members is necessary in the
(1) Lok Sabha only
(2) RajyaSabhaonly
(3) Lok Sabha and the Rajya Sabha
(4) Lok Sabha, Rajya Sabha and the State Assemblies
oergolf D583, 808 @ Jg/dFes® 2/3508 Jghgo BIrso vS5d0?
(1) &*5dg5es® S
(2) oragdyes’ SrEd
(3) o'63¢55" Hodan oragdLes*
(4) O'EIFS’, Tragdedes® Sdain oFe TISIFoS®
119. The first five year plan focused mainly on
(1) agriculture (2) industries - (3) literacy (4) health
3068 HoSSE PerPE PHEdomr SIS woFdw :
(1) Sgdarasoo (2) H/Edoen (3) ogodgs (4) w&rgsw
120. Panchsheel pact was signed between
(1) India, Pakistan (2) India, China
(3) India, Sri Lanka (4) India, Nepal
Sodte edyodo boYe) $ogg 20008,
(1) 2rd8d%o, >8I (2) wrdsddo, I
(3) = 88G%0, geos (4) 88ddo, IS
121. Two states having the common capital
(1) Madhya Pradesh, Chhattisgarh (2) Punjab, Haryana
(3) Guyjarat, Maharashtra (4) Bihar, Jharkhand
GG T2EAJ 0N &&) Doy TEen.
(1) HGgdas, S8IKE (2) SHo=d, o
(3) K=os, SoG (4) DS, =rgos

V-Social Studies 25-B




Question Paper
Booklet Code

122. The first non-congress Prime Minister of India is
(1) P.V.Narasimha Rao (2) VP.Singh
(3) Morarji Desai (4). Chandra Shekhar
TESBEY SO 5of 0S8 PFTI500d.
(1) 29.2. S80S v (2) 2.2. dohA
(3) Joo§ Badd (4) So&Ips
123. The first president who was unanimously elected
(1) Neelam Sanjeeva Reddy (2) V.V.Gir
(3) Sarvepalli Radhakrishnan (4) A.PJ.Abdul Kalam
QEhSom AYBS &9 Ty D\ :
(1) Qoo Dozs3H . (2) 2.2. a8
(3) $BgHO TFTERS (4) 253 wed goro
124. The country that suffered less due to world war Il was
(1) Germany (2) Russia (3) USA (4) Britain
Bodd @dow dingo So SKyIm SHPFons BESw :
(1) =26 (2) oaxg (3) o50.98.9. 4) dus
125. Identify the wrongly matched pair
(1) 1CJ. - TheHague
(2) WH.O. - Geneva
(3) UNESCO - Paris
(4) UNICEF - Washington
ST 2EJEDS T°AV HYolod.
(1) ICJ. - &R
(2) WH.O. - AT
(3) UNESCO - >8R
(4) UNICEF - JAofbsS
126. The first human in space
(1) Sputnik (2) Yuri Gagarin
(3) Neil Armstrong (4) Kalpana Chawla
©oSBES'E IYS T SrSYH
(1) 39&§ (2) cSorb Kb
(3) IS ebyFoh (4) oy oI
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127. Jerusalem was a holy city for

(1) Jewsonly (2) Christians only

(3) Muslims only (4) Jews, Christians and Muslims

D& BEFHBo SAG Shdorr erdT.

(1) cSrden SrEd (2) BRIV SrEgd

(3) Soodoen S (4) ochrdoen, ElHen bk Swoen
128. Suez canal was nationalised by :

(1) Nasser (2) HoChiMin (3) Tito (4) Stalin

JraHE el @doho BUSTE :

(1) =6 (2) FFas (3) «&* 4) IO
129. “Thaveadream____ ™ was the historic speech given by

(1) Martin Luther king (2) Malcolm X

(3) Abraham Lincoln (4) George Washington

‘T8 o $08” ok TOEE BdoKo TS T :

(1) 30783 ©rg6 8of (2) Srop I8

(3) oSc do¥s (4) =g TaohLS
130. Anti-Arrack movement : Andhra Pradesh : : Meira Paibi movement : ?

(1) Madhya Pradesh (2) Tamil Nadu

(3) Assam (4) Manipur

o> S8 G0 1 WOPRAT 1 DTN g0 : ?

(1) SoggHas (2) g¥Td

(3) e (4) HoByb
131. The only country which is similar to India in federal polity is

(1) Britain (2) USA. (3) France (4) Canada

J3rpg ITS0S” eSS FO &&) wd ¥, BESw

(1) @b (2) 0%50.28.9. 3) @&y 4) 5@

132. The constitutional day is celebrated on November 26™ because
(1) The constitution came into force on that day.
(2) The constitution was finally adopted on that day.
(3) The constitutional Assembly was formed on that day.
(4) The constitutional Drafting committee was formed on that day.
33008 263 Trargorl BSGSo 2BYKoLrd. JokEes?
(1) & &S orergotio vwHenss SQ)ob.
(2) & &S oergofio &8 wIrdo Fodod.
(3) © &S oargo 3% BB, -
(4) o &8 oargor Snrond NS oo DB
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133,

Satara and Medinipur are famous for

(1) the formation of independent governments during the Quit India movement.
(2) taxrefusal during the Civil Disobedience movement.

(3) the boycott of foreign textiles during the Vandemataram movement.

(4) Mahatma Gandhi’s Salt Satyagraha.

de°o, BIYE & TEmomr BHRG BoTrow.

(1) &5 n080sr &EgH S500Hos*® o @abege Jorin.

(2) *3S'pons'EgH dHochos* e JoEbe.

(3) SoBirdo &g doohHod* B IF WY,

(4) SoFtey mod Bly degidro.

134.

Identify the odd one based on its location.

135.

136.

137.

(1) Utkal coast (2) Coromandel coast
(3) Konkan coast (4) Circar coast

@8 sgrdor HHomr &) TR Howod.

(1) e&f 8850 (2) B'6SrodS B85»
(3) FEokds d85» (4) dop6 885»
Which of the following city is closer to equator?

(1) Chennai (2) Hyderabad (3) Nagpur (4) Chandigarh
grdody Dpsd SKSm @& $K80 87 ;
(1) 33 (2) Téoerd (3) &8y6 (4) Sodps
Bhutan does not share its border with this Indian state.

(1) Sikkim (2) Assam

(3) Meghalaya : (4) Arunachal Pradesh
& 888 T {os SrirS OIS HoE .

(1) »8o0 (2) waro

(3) JbprocsH (4) oSS HAT
Find the odd one out with reference to economic sectors.

(1) Fishing (2) Forestry

(3) Auto mobile manufacturing (4) Mining

Q8 Sorre &)y HIOM GHTAD HYoSod.

(1) Bde Hodso (2) e&Hen

(3) odrae Erb (4) K3ven
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138. Which of the following is/are elements of weather?

a) Temperature b)  Atmospheric pressure
c) Atmospheric moisture d) Rainfall
(1) (a)only (2) (b)and(c)only
(3) (a), (b), (c) only (4) (a),(b),(c)and (d)
8od TS TE S80S voTen A?
a) P b) oresSde Hdso
c) mds* 8% d) Sg>rdo
(1) (a) S (2) (b) Soboso (c) Somi@do
(3) (a), (b), (c) &> (4) (a), (b), (c) So0cs0 (d)
139. Peninsular India is part of
(1) Laurasia (2) Angaraland
(3) Gondwana (4) Panthalsa
P88 Bedseyo BAS* grifo
(1) erdhasr (2) worro grd
(3) Aomgar (4) ogrem
140. Identify the odd one out.
(1) Patkai hills (2) Manipuri hills
(3) Mishmi hills (4) Mizo hills
9:6_10(1‘ a-fa oA Hfosod.
(1) >&scD Foden (2) H0edPd Foden
(3) oy Foden (4) F* Foden
141. Sardar Sarovar project is located on this river
(1) Tapati (2) Narmada
(3) Mahanadi (4) Sutlej
BOE HESE DBE & S0 AOPIAEI.
(1) &358 (2) 368
(3) HoFss (4) ©»B&

142, Ifitis 10:00 am in London, it will be 11:00 am on the longitude.
004l edao 10:00 Sotren ©axdHdd Bod d Dgrodo 5¢§ dako 11:00 eHsod?
(1) S$°E (2) 10°E (3) 15°E (4) 20°E

V-Social Studies 29-B



Question Paper B
Booklet Code

143. Which of the following is a north flowing tributary of River Ganga.

(1) Yamuna (2) Chambal
(3) Gandak (4) Kosi
8od TS egdorr PSroB Homrdd Gg) GI88.
(1) o508 (2) Sows
(3) Ho&E (4) &

144. Identify the odd with reference to the nature of capital.
(1) Tools (2) Machines
(3) Raw materials (4) Buildings
Diwd Jgerdo Savg 8od TRAS* HKom SHIA HoSosd.
(1) Jo8occen _ (2) oSoEren
(3) Swasorgeo (4) F3Teo

145. Small producers in India need the following to compete better in market.
a) Better roads, power, roads, marketing facilities and information network.
b) Improvements and modemisation of technology.
c¢) Credit at reasonable interest rate.
(1) (@), (b), () (2) (b),(c) only
(3) (a),(b)only (4) (a)only
PTESBI0S' DX) GBI R S FE SRFTeod sTYID
a) SRS §'d), Jeogs, S8 B0k FrEorgen B JDIrErE ISSE),.
b) #0388 JoxpSos’ BHIB)Y, wEIELTw.
c) &893 :$§§ e ogd.

(1) (a), (b), (0 (2) (b), (c) S
(3) (a), (b) S>> (4) (a) Sr@d
146. Snow melting in Tundras result in releasing of this gas causing global warming.
(1) Carbon Dioxide (2) Methane
(3) Chlorofluorocarbons (4) Nitrous oxide

LoEes® ot 8Kk So ddde wddhy & T FritYo 3K s°Emo
0o,

(1) s°6)S 3 e5)& (2) 8S
(3) E&'FS sy (4) IS w3&
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147. Land and water relationship have impact on climate of this place.

(1) Visakhapatnam (2) Bhopal

(3) Delhi (4) Jaipur

Frdo8, B8 oy dowolo & |Fodo @), ITYRED Berdo WrYsod.

(1) dzp dQevo (2) &*>S

(3) &8 (4) BYrS
148. Animudi peak is located in these ranges :

(1) Nilagiri hills (2) Seshachalam hills

(3) Annamalai hills (4) Nallamala hills

83508 3pdo &) @Feven :

(1) Qdohd Foden (2) Ixrseo Foden

(3) oa)HB Foden (4) Sedeo Foden

149. Availability of ground water does not depend upon
(1) Underground rock formation
(2) Rainfall
(3) Recharge of surface water
(4) Ocean currents
il 8 S50 o LFESE woo.
(1) Erid)os’ 008 >80 Aok
(2) Sg>so
(3) &6I88e A S8Ken JSTHO’ Rokdo
(4) [JS0E Pardten

150. Dibang and Lohit are the tributaries of

(1) Indus (2) Brahmaputra

(3) Damodar (4) Tapati

Bearofi Ho0ckn SUrS vI) & S68 GdHSSen

(1) 2ogsd (2) I

(3) =Irss (4) &858
00a0ao
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